Lesson 12-1 Find the nth term and arithmetic
means of an arithmetic sequence.

?  Find the 35th term in the arithmetic

: sequence -5, -1, 3, ....
Begin by finding the common difference d.
d=-1-(-5or4
Use the formula for the nth term.
a,=a,+(n~1d
dy; = -5+ 35 - 1)(4) or 131

Lesson 12-1 Find the sum of n terms of an
arithmetic series.

?  Thesum S, of the first n terms of
{  anarithmetic series is given by

S, =5, +a,).

Lesson 12-2 Find the nth term and geometric
means of a geometric sequence.

?  Find an approximation for the 12th term of
i thesequence 8,4, -2, 1,
First, find the common ratio.
ay,+a; =4+ (-8 or—05
Use the formula for the nth term.
a, = ~B(~-0H)2-! g =grv-!
= —8(-0.5)!! or about 0.004
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13.

14,

15.

16.

18.

19.

Find the next fo, e
sequence 3, 4.3 &

Find the 20th te—
for which a, =5

Form an arither
has three arith;.
al'ld —_4- 51 3 :

What is the sun

the firg
arithmetic series - 3p — 23t Mte ““3 & the
Find n for the aritnimetic series fq 217

== 2 d = 1. 4 and (j‘ = 250.2 1TBWhmh

Find the next three terms of th

e ‘
sequence 49,7, 1,....1 1 §Eometric
AN TL 343

. Find the 15th term of the geometric

sequence for whicha, = 2.2and,=3

If r = 0.2 and a, = 8, what is the first tem
the geometric sequence? 125,000

Write a geometric sequence that has three
geometric means between 0.2 and 125.

0.2, +1,5, +25, 125 17. 36,0443

H
T T T T T T T T L

Lesson 12-2 Find the sum of n terms of a
geometric series.

?  Find the sum of the first 12 terms of the

i geometric series 4 + 10 + 25 + 625 + -,
First find the common ratio.
a, +a; =10 +~4o0r25
Now use the formula for the sum of a finite
geometric serles

—a]"‘alr
Sn = g
4 -4(2.5)12
512-:—1—_(5—5)"- n=Ila,=4r=25

52% 158,943.05 Use a calculator,

H
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20.

21.

......................................

What is the sum of the first nine terms of th¢
geometric series 1.2 — 2.4 + 48 — 7

Find the sum of the first eight terms of e
geometric series 4 + 4\/2— + 8+

60(1 + \/2)

pameadn




Find the limit of the tery,
w ] finite geometric series,
of alt ¥ +5

and the

'\ﬁ.

12-4 Determine whether a series 5
qavergent OF divergent.
. Use the ratio test to determine whether the
3, 3 3¢
series 3 + = + £l + FTE Is convergent or
divergent.

The nth term a,, of this series has a genera]
gn 3n+1 )
form of?ﬂ—and a, ., = o+ 1 Find

Oy s
lim
=2 aﬂ
K i
n+ Iy i
,:]imi—nL r=lim or 0
N—to0 _3._ n—e 1+ 1
al

Since r < 0, the
series is convergent.

_r 3”1'! n!
e Yo T

N v,

=

- - 453
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26, Write 5123 as a fraction g
. 2

27. ¥ind the Sum of ¢

1260 + 504 1 201}3;! infinite series

D+ 8064 - ..
that the sum does 1, -

feasoning. 29 00

3 ¥

', or state
Ot exist and explain your

. Use thf—i ratiog test to determine whether the

foct B 9 g

series 5 + 57 + 3t Iz e convergent
or divergen, convergent

29, Use the Comparison test determine whether

e85 .7 8 9 :
thesen&;T+§+-3—+:1-+---|sconvergenr

or divergent. divergent

30. Determine whether the series
2 1 2 1 2 .
2+1+3+2+5+§+7+---15

convergent or divergent. divergent

“on12.5 Jse sigma notation.
L]

2
\%i{ez (2~ 1) in expanded form and
n=1
- then fing 4 sum,
3
n;{”z‘l)=(]2— D+@-D+@%-D
i =0+3+8orl1l

e

i T S

Write each expression in expanded form and
then find the sum.

- 2
9 R =
31.) Ga-3 W 32 kZl S

32, i ded form.
margin for expant .
21;23,;35 :gch sgrias using sigma notation

=1
33 -1+1+3+54 a=2(2n“ n! 1)
g +
34.2+5+ 10417+ 7 Zﬁ(
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Additional Answ
24. Doag not exist;

the seqy
31.(3:5-3) + (3-

B-7-3)+(3-

(3-9-3)
32.(0.4)" + (0.4) + {




.
 ; Find the fourth term of (2x — y)
6

5 B! 6 —ry_ Y
' o (2x e
(x — y)° = Z:;. G — ot (&
To find the fourth term, evaluate the
general term for r = 3.
. S B =B s
31(6 — 3)_! (2x) i 5.

_6+5-4-3 (20)3(—y3) or — 160x3y3
T e

Lesson 12-7 yUse Euler’s Formula to write the
e€xponential form of a complex number.

? Write \/3 — i in exponential form.
: Write the polar form of \/3 — i,

b \/(?/g)z + (—D20r 2, and

—1 57
6 = Arctan — or —

3 6

\/:;-i=2(cos—5—w—

in 37 _ o =
6 + isin 5}-28

Lesson 12-g Iterate functions using real and
Complex Numbers

4 Find the first three iterates of the function
f(2) = 2z if the initial valye jg 3 - i

2, Thep, assume that Sn is valiq
and yse this ass

: Umption tq
18 alsg valid for t=k+ 1

fOl" n=pg
Prove that it
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- A
39. (a - 4)

3B. (2, +
Find the designated term of each |
expansion.
37. 5th term of (x 10 3350*’5
38. 3rd term of (42 “4'638
39. 8th term of (x 252‘44&
40. 6th term of (2¢ __101'31

Write each expres
exponential form

41, 2(cos Ef + i
42.4i ggit
43.2 - 2 2\/2p/
44.3\/3 + 37 §e

" Compley

i .
51 . ,: 28“

Find the first foyr iterateg

: of each f
using the given initig| value, §f Neceg
Your answers tg the nearegt hundre
45. f(x) = g 3x, x, = 2 8,6, =33
4B. f(x) = x2 4 4

Find the first three iterates of the fi

2) = 0.5, + (4 - 2; for each initia
49, = e b 50, Z5=12

. .....f!.?::?.!?.:..§§.§,.!.‘!§.f.9i!1:....-. —
Use rns:lt_hemaucal induction tg
Proposition IS valid for gy Positive int;
Values of 91-53. See Answer App
51 1+2+3+...+n:i‘£’3:_2
+

52.3+8+ 15 4 <. +n(n—-2):n(n
953. gn

~ 4" s divisible by 5.




